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Question Number : 1 Question Id : 27028219999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
To raise the achievement standards of students i education, 1t 1s necessary
4o o) Slwgsd&@ ﬁémﬂ;w&) 20508 ab @5k

Options:

To evaluate students continuously
, Dgie DBoSE SrergosdEm DO EED

To give high salary to teachers
SIPTIADODH 0O SeSaoen 2RO

To change curriculum
g ©esed8 (Curriculum) Ko 55880

To construct good school building
&8 00D P FPITeQ) DBOEIM

Question Number : 2 Question Id : 27028220000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s least important in judging the Effectiveness of teaching
U 584 woilie J0hmi8 God IS 08 S5 @iy o eodo

Options :

Following curriculum
| Aoy RDerdE @pddoNE0

1. %

Students' participation

- amvgfge_} e,rrfiﬁogsﬁaéo

Learning outcomes of students
S)mﬁgfgﬂ @gI0T® HOT°D
3. %

Use of appropriate teaching aids in the classroom
- B818 (108° SN SEIFPIEGeroDH $I@rNoBE 0

4, #

Question Number : 3 Question Id : 27028220001 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Some student sent greetings to you on New Year. What will you do?
e Dy W $rS B0 depseoen HoBITHH bt D BHH?

Options :

Do nothing
A BH

1. %



Say thanks to them and advise no need to send greetings
ESgden 38y, Hyrsrogen DS S0 Bsoertd

Ask them not to waste money
ey SHEe DENED SO

Reciprocate the good wishes to them
80N Hgrseogen Ben)aEenn

Question Number : 4 Question Id : 27028220002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In which teaching method learner's participation 1s more passive?
» & 5’3%@@3’5 OERISL GRIiREN0 K AdporEEo?

Options:

Discussion method

s
. x‘.ﬁmt}m%ﬁe‘ié

Demonstration
BEGTHES

2. ¥

Brainstorming session

B ARty D8
3. %



Project method
(R8T HHS
4. % > @

Question Number : 5 Question Id : 27028220003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements doesn't reflect the basic characteristics of

teaching?
Bof) HEPHI0E B GE) @rEans oo P00 O6?

Options :

Teaching i1s same as training
SE, 3580 e.58

Teaching is related to learning
FES 0IEH5H $owofodI

Teaching 1s a 'task' word while learning 1s an 'achievement' word.
CARANY )85 QBT $02000080 TP ©gfHho REHD 000

Information 1s given through teaching
S Txoe DIrarbo aaREo 2k
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Question Number : 6 Question Id : 27028220004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following does not belong to the basic rules of APA style of referencing

format?
8o 06° 06 APA 58" TS SO0 wib?

Options :

Italicize titles of shorter works such as journal articles or essays
35S ©058) Hoa T Hofl OF) Qg0 wwrdE & Do

Invert authors' names (last name first)
SESonsd DS0DHH Dwdey Trahko

Italicize titles of longer works such as books and journals
fogro oA S H508 é)g@e‘.’ﬂ@ 40EH 2erd§ & Do

Alphabetically index reference list
5088) 38K oD wETre SHI EDos® ayo
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Which stage of research the 1ssue of ‘research ethics' may be considered pertinent to?
H08°i56° 3854 &3 0w (B0d IS 2 Fd® Agore Wridodathiod

Options :

At the stage of problem formulation and 1its definition
BBHH DodE Badrlo $dA oY ABGDOB *pow

At the stage of defining the population of research
HOEHIH SRS weee (Population)ny dBID0E *pow

At the stage of data collection and interpretation

Sgrod EBes 0 aeggesso (Interpretation) B Jpow

3. % [

At the stage of reporting the findings
HOSGT HOTOD DBHOD e
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A researcher wants to explore the effect of possible factors for the organization of
effective computer based learning interventions m schools. Which research method

will be most appropriate for this study?
P60 O ©0d0 SoLE e el Herdo SPHNS PR S08%td
30800508 & GBS S0 B 08 GARPISYDRI ek’

Options :

Historical method
0@ &S é%’)e‘i%

Descriptive survey method
SBSE KOy D&
% @

Experimental method
BBrrres D08
3. % .

Ex-post facto method
IE)-T (°F° D88
=] =) [

4, &

Question Number : 9 Question Id : 27028220007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following step 1s not essential to design a questionnaire?
BEd ot Jokiiod® Bob ko @Y ©:5b0 Gottd



Options :

Writing primary and secondary aims of the study.
OI0HK0 @E) (FPNS HOAM FPee Howod ogRen [Eahio

Review of the current literature
(RS H50*sIeH HJeBes VaHtso

Prepare a draft of questionnaire.
DK (Draft) (eS8 Soirdh DabEo

What type of statistical techniques to be applied
D B8PS FFogy F°FoDEHOD HABENOTO

4. &

Question Number : 10 Question Id : 27028220008 Question Type : MCQ Option Shuffling : No
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A good thesis writing need not take care about one of the following:
e 8 Emgm?ﬁ oo (BR%) iﬁaoﬁﬁ}ﬁycﬁ} 1Bod wtﬁéﬂ 25070 ©HHEBH

Options :

Reduction of punctuation and grammatical errors to a minimum

1% argiticeo shBdin HomohE Exiperd égoz‘ic‘ﬁo

Caretul checking of references

5 % Eﬁﬂﬁr\j&}ﬁj | e s8dDo%Eo



Consistency in the way the thesis 1s written
DrosE (Hogo lrahios® Dent (Consistency) e5550

3 ®
Consistency of results with previous studies
Hé efidhare $DeEee&d ﬁ{i}ﬁ ?%ﬁe‘js_p DA Goibo
4, &
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Read the passage and answers the questions from 11 to 15:

Bhagat Singh was barely 17 when he published lus first article, 1 1924, 1n Matwala. a Hindi
magazine from Calcutta. The subject was ‘Universal Brotherhood’, which was not a very easy
issue to write on at such a young age. His strongest critique was of untouchability and
communalism. which continue to torment us as a nation. He was fiercely frank and bold enough
to critically comment on the politics of senior leaders such as Lala Lajpat Rai and express his
differences. He was also conscious of the international revolutionary struggles and ideologies,
which 1s evident in a series of articles he wrote on ‘ Anarchism’. In 1928, he wrote, “Our country
15 1 a really bad shape; here the strangest questions are asked but the foremost among them
concerns the untouchables.. Would the drinking water of a well not get polluted if
untouchables drew their water from the same well? That these questions are being asked in the

twentieth century. 1s a matter which makes us hang our heads mn shame.”

Bhagat Singh expressed his disenchantment with the politics of Lala Lajpat Rai, whom he and
other youth otherwise venerated. He was not even remotely close to the political stature of
Lalaji yet he had the courage and the conviction to publicly disagree with him. Bhagat Singh
referred to Lalaji’s growing proximity to the Hindu Mahasabha and other forces

during the 1920s, and the older reader reacted to this in hus speeches when some youth joined
Bhagat Singh in expressing their concern. Singh was aware of international revolutionary
struggles as well. While writing on anarchism, Bhagat Singh observed: “Our retrogressive
thinking 15 destroying us. We keep ourselves entangled m futile discussions about God and
heaven. and remain busy i talking about the soul and God. We are quick to dub Europe as
capitalist and don't think about their great ideas or pay any attention to them. We love divinity
and remain aloof from the world.” This 1s what an anarchist stood for. Singh reaffirmed: he
was not a blood-thirsty young man who believed in the bomb and the pistol. as the colonial

government labelled all revolutionaries, Today. we need to remember his revolutionary ideas,

11 F00® 15 S88 o Dot SooDODD Y eRidn B8 Bot R pld
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Correct Marks : 2 Wrong Marks : 0

Find out the similar meaning of ‘reverence’ from the above passage
2 ardsgriio &od ‘FerH0’ adns, Aetow, O, Beniinsfols.

Options :



Disenchantment
SPBESED 5O

Entangled
ARNDESHVRY

Venerated
XN IR NVI R TATR N A

Reaffirmed
O T 3oy
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

*Our country 1s in a really bad shape’ represents
'S5 BF0 Q2SO T DOV’ G0H' 0

Options:

The country i1s dominated by colonial powers
B0 DHodard F50 ©OHB.0 Bot HOoO.

1. %

Full of politics and Bhakti in religions dragged the Indians and kept as illiterates

5 % o 8asren SO TR 238 23BN DBE T 20T 053800



The country 1s facing a lot of problems from ignorance

2 v 2T 50 BOBD BI0 Trer DAILOD 0T 008

The country 1s unable to get independence from White people

. e lsle Beapd B0k JBOB.O oSS oo
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Correct Marks : 2 Wrong Marks : 0

Bhagat Singh’s most powerful criticism on the following topics except:
8000702 5Hé DON ABE), @e0zed $550 0 DaBen 2,563 SDy:

1. Politics
ora3dairen
Untouchability
@0ATVEHN0
Feminism
2aDZ0
4. Communalism
20 eheded 0

| ]

L¥ ]

5. Anarchism

TS0
6. Colonialism

NSV IVEATe)
7. Bhakt

28
8. Theism

&es0
The right answer according to the code 15

TG 195°50 TR QedIETe0

Options :



1and2

L% 10005 2

3and 7

5 ¥ 3 0o 7

5 and 6

5 000 6
3. %

4 and &
e 40005 8

Question Number : 14 Question Id : 27028220013 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

*Our retrogressive thinking 1s destroying us.” Which one of the following is the correct
meaning of the quotation given by Bhagat Singh?

B0 B0 BHFS5S HIO) TIN0 D0, S VON &, B8 Hwbe
T0E TS @G0 &) 5% HB0S08 :

Options:
Indians think poorly and try to destroy themselves.

2PEBANED  DVOSOT SSDOD e T THI0 TROE
D0HEY D

Indians are garrulous. They discuss so many things about God. heaven and politics.

PGB0 Srebzaten. N B HB0Y), N80 HBAN Trasore
(HOOW TET 2)ACITPEN <SP0



Indians treat Europeans as capitalists and waste their time in discussing the subject
related to soul and divine.

PGB0 N TNOR) VEPDAETTHENTT DBKR HOGN

3 % e3¢5} SHOAM Tad DOVOHFN 0T & Hoasrg) sjre Wt

Indians treat Europeans as capitalists but do not receive great ideas of others,

rSB0ien CHTEH0H B0 DEPLATEeT DBHR O LHBED
ST IO oo B0
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Correct Marks : 2 Wrong Marks : 0

The word “Anarchism’ refers to
D230 e D0 0 ArDROH

Options :

Absence of the government

DgB.0 SBEIEH@E,
1.4

Government run by officials

22068 5 @ATHOT .00 Do D)

Government by mexperienced persons

29023330 B 3NOT Hegome ), BB,



Domimeering govermment

PSS BP0 B0 DR,
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Assertion (A): Communication 15 a two-way process.

DR (A): ged £8 860 =30 Do deeare HBA%

Reason (R): Communication skills nvolve listening. speaking, observing and
empathizing,

5520 (R): DO2TIED DIEFLEN DIC0, STEP 0, HOFO0TIH0 BT
Docboesiedd 588 SOBEO D).

Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(A) OO (R) A2306), o0 (R) (A) a3, DM oJoaiED

Both (A) and (R) are true. and (R) 1s not the correct explanation of (A)
) Bot (A) OO (R) A2, 509 (R) (A) BBy, A0 aGEd 3P

(A) 1s true, but (R) 1s false
(A) D230, 5°Q (R) @00



(A) 1s false. but (R) 15 true
(A) @00, 5% (R) D230
E
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The first newspaper in Telugu published from Hyderabad was
AT cADOG (DTNBOEA JciEd Senh aroees

Options:

The Charmuinar
1 % 000

The Nizam News
g 92T RIS

Andhra Patrika
« SO0 HRS

Golconda

e 008
W
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No

Correct Marks : 2 Wrong Marks : 0

Speaking to a group of people 1n an official gathering 1s called

@50 DHaRHsd8 TOAM 093506 Hogries ™ 2)e0a)2)CeH0E
Options:
Oral presentation

TDE HOGH
1.¢ S

Extemporaneous presentation
DH0TOG HEG,D

2.
Face to face presentation
23080 o0& BOT,H
3. %

Open presentation

227000 DHOV.H
L =)
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One of the following 1s not a barrier to effective communication. Find 1t out.

80& 7¢3¢Y 2,563 NeNES0S D DTS S0 BE 2.8 e55H0 .
C?g}cl Ee0f0 6

Options :



Innovative expression among different cultures

DD HOKYE O DbTesd 03555056

Feedback
v DD OLD

Stammering of the speaker
D8P Foetotaboo
3.8 77 ~

One-way communication
208 D5, Davewed He0 s
4. %

Question Number : 20 Question Id : 27028220019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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In a classroom. a communicator’s trust level must be determined by

SEHBHAS, E5rR3e0 Ty DO Fowd domoe
Options :

Use of louder voice

2GS Soebetatno

Change of facial expression

Homp HBEGEES St

2. %



Use of abstract concepts

e3a3008) £IPGIPe) GALIOBTA!TEN0

Evye contact

5800 f0083.en
4, & ®
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‘A’ and ‘B’ will complete a work separately in 10 and 15 days respectively. If they work
on alternate days, starting with ‘A’ on the first day. the number of days required to complete
the work 1s

= (X S bR ”
2" 080 B S 10 8cin 15 §red’ AR od T, ol b 24D
o] - R v, ] ¥ =4 r, :
Ferod 2 TOF, JwdS Fard a0 & J0dBB, HAD 0 :
£O8S.
Options :
1. % 6

10

5

3.v 12



15
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If Rs. 4.000 becomes Rs. 4.560 m 2 years of time. By the end of 4 years, with the same
rate of simple interest, Rs. 5.000 becomes (in Rs. )

Ar.4.000, Do f\JOm"‘f‘ 1000 r;a.;ux:)ﬁm)) F.4560 000, T ~F .-i-fgfi =y
4 H0Ne 006 EF. 5,000 J0ed 00 eehoo "'w 0 (&r o)

Options :

6,000

1. #

0,400

6,900

4 % 1400
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A boat travels 24 km upstream (opposite direction to flow) i 6 howrs and 20 km
downstream (same direction to flow) mn 4 hours. The speed of the boat in stable water 1
(kmph)

2.8 DB (DT BID ;808 H3S 24 & . Sroedy6 foted Hairsodiody. s
DT B3 208, &. &roedy 4 foted' (Halrsodinds. edyd dedd HES Hd
o Kotk &. &, o)

Options :

3 % 1.00

4 050
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The average age of a group of ‘x” members is 20 years. 10 members with an average age
18 years are newly joined in that group. Then average age has become 19 years. Then x =
‘%' oDOA M5O DN HADM)) 20 HOsIEd JTPEN. 18 D06 JTPEN DN HAH] H8 10 D0
AT &3 Do Toed. @5 3¢ DN SaB 19 Hode Joren NSO, @5 3% x=

Options :
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The average price of 50 mobiles in an electronic shop is Rs.15,000. After the highest and
lowest priced mobiles are sold out, the remaining 48 mobiles average cost becomes 14,500.
The cost of lowest mobile is Rs. 8.000. The cost of highest priced mobile (in Rs. ) 1s

O[TIE 5606 50 TnBS 3 HAen A &P, 15.000. ©0essHF HOAMM @ehery B Ko
By DFowodrr, MAOS 48 IBE Hhew OO &, 14,500. @05 S O o
0B O . 8000. ©eb5HE FNBD Ty OO (Er. o)

Options :

50.000

> 46.000

40,000

38.000
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The missing number in the sequence: 8. 43, 11. 41, B I o
oS S 8,43, 11, 41, .39, 17, ..

e9e)( 500 O D0 OWE:

Options :

8

4% M
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Missing group of letters in the following sequence 1s
=] 5 b o W, o, ¥ N T
206 15005 &R0l efore Hdriro QAR. RAS. SAT. TAU,

Options :

UAV
1.4



UAT

5 x TAS

TAT
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‘NOVEMBER" 15 coded as ‘87624321 and *‘CODE’ 1s coded as ‘9752" then the code of
‘DECEMBER’ 15

“NOVEMBER' 0 '87624321' 1™ 00050 'CODE' & 9752 17 86 Tobads:S , DECEMBER'
B 56

Options :

82924321

57624321

52024321

57624321
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‘A’ 15 the father of *C’, “C’ and ‘D’ are brothers, ‘E’ 1s the son of ‘D’ and ‘B’ 1s mother of ‘D’. The
relation from ‘A’ to ‘E’ 15

A S 'C 5D éﬁc@: 'Candcin D J8HBoen: B D Biagedtota: 'B'v‘_ﬂg D"

'A'aoé E B o200

Options :

Uncle (2rerow [ OFaw)

> Grandson (a0e5a5¢%80)

3 % Brother (f&éo)

Daughter ($5eo%)
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Statements: Adversity makes a man wise.
DHB) .8 daan BOF a0 TWoH

Conclusions: I. The poor are wise. II. Man learns from bitter experience

= Py ; - T e P
1. AT 8O Doar . IL alaod D) a0 AN0G B )500EF0
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1 % both I and IT are true (108G IT e Bodr f230)

Iis true and II is false (I D230 Sodain I e223H0)

2. %

I1s false and IT 1s true (I €b20p ~08C50 1l D230)

I and II are false (15805 I ew Body e200)
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Note : The Questions Q.31 to Q.35 are based on the following information.
Hebds | (DD a.31 DHod Q.35(80h JSrarlo egrbore Gavow.

A competitive examination was conducted by a commission for the three zones i five
years 2015-2019 and the number of candidates qualified are presented mn the following
table.

; ; &
2015-2019 &0 H0&8e TS
= 6)

o, a ! S VR £ 4 {
A A 5aroDS 2.8 e HOZ S, Surdhy SHoders) edeh
SPoHS 25:er Doy & HEES

=
o

Q565 erodNdT

Zone-1 | Zone-II | Zone-III
2015 | 17553 | 13562 | 11651
2016 | 18490 | 12950 | 12505
2017 | 15200 | 13340 | 10555
2018 | 18400 | 10220 | 11595
2019 | 19500 | 14350 | 12542

Sub questions
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The difference in the number of candidates who qualified from Zone-II in any of the year
to the previous year was highest.

of . y -4 of i g b - =, *
S5 508 @8 srobS @8:e Hops &, Be J0He 15508 FOT) O
v, o £ 2 g o 2] | i A L
0a3e5 Y5067, eQeh P08 @250 oS B S0} ST OO

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

1 2015 to 2016



2016 to 2017

2017 to 2018

2019 to 2019
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Out of total qualified candidates i the year 2018, percentage of candidates qualified n
zone-II 15

- o g oo f 5 o ; 7
2018 &' @986 &r0BS JnS0 ©8:Do, FS-M & @lsd FH0DS e Téo
Options:

| x 4576

2541

28.83
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In which year, in Zone-IL. the least percentage number of candidates qualified?
s ; e P ; > e
2 20568065, FSI S, @0deb rOH0DS @25he T0 Do $H0) ST Sod?

Options:

2015

. 2016

2017

2018
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The percentage number of candidates qualified from all the three zones m 2017 1s
B0 ST Dodere (F) L0d, 201767, @l Fodd oo Homs

Options :

43.945

39,005
2. ¥
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In which Zone, in the year 2019 the percentage of candidates qualified is least?
2019 &, @) 8, ©de FodS @ idhe TS0 F0pIT Sod ?

Options :

1 % Zone-1I (85 1)
g Zone—II (& 1)

» Zone —1II ( SS- 1)

o Zone—II & Zone-I( & So- 1l & 85 1)
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ASCII stands for

ASCII wod

Options:

American Stable Code for International Interchange

American Standard Case for Institutional Interchange

American Standard Code for Information Interchange

American Standard Code for Interchange Information
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The primary function of the ............ 1s to set up the hardware and load and start an

operating system
&W@ﬂﬁé@} 20608 HbcH esiodoh 5’355":1%363 Sontsen ?s%ﬂﬂo...,. a0g) [Eeans 565

Options :



System Programs

508 (EP(reeven

BIOS
adire

Stack pointer
&8 aranobd

Memory

4 % 3T
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Most modern operating system used in android mobile phones 1s
wolzront Jnds e oo ©eHNE wiodoh aﬁ;&ﬁ%

Note: For this question, discrepancy is found in

question/answer. Full Marks is being awarded to

all candidates.
Options :

Marshmellow

G
| ErEys



Ginger bread
Boe:b (BE

Oreo

Oriental
a.8chode
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Which of the following is an initiative which does not use ICT based learning
|Bob & 06 ICT wgbs @:—Jﬁ;}lﬁu?@_ EvalnY)

Options :

Inspire initiative

2S5 aVADES

National Programme on Technology Enhanced Learning (NPTEL)

JOBERE HBHiHEse @S =dah HFgo

Eklavya initiative

DBy aDHEHES

Brihaspati (Virtual Class Room)
s é
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Broadcasting on internet 1s called
Internet @%ﬂ@?@_é Diforr SenrEt.

Options:

Telecast
2055
(-]

Webeast

= En
EESEDE

Internet cast
2065385 @E

3. %

Intranet cast

OIS =9
4, %
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In which state, the APPIKO movement took place ?
) Dﬂ@osﬁﬁ &-Eﬁu*jﬁﬁ SofPHS =bASH?

Options :

Tamil Nadu
BTt

Uttar Pradesh
%é&ﬁ@’ﬁrg

Madhya Pradesh
S0ty (HBE

Karmataka
Eoméos
(=8
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What did the Montreal Protocol recommended to phase out the following ?
Srol@chd (Eréslerd BN Fofothh bardy) Babalse?

Options :

CFCs

[ T =y
Ba)greleD
1. “*



Co,
51*{555 i dﬁjﬂEﬁ*jE

Halons

SPemShen
[

Carbon tetrachlornides
sG)n B|erEBken

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Which is present in HIV ?
HIV $50th 26 Both?

Options :

DNA

| % PN

RNA
53R

T-cells

3 % T-Eezrew



Macrophages
SrEieEs

qQlESnd

4. %
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Which of the following 1s a renewable resource?
& (Bob B D6 HHBe=BE H:50?

Options :

Crude o1l
Sl S50

Lignite
DTS

Soil

Mica
Slhatatavy
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Depletion of ozone causes
L8958 SHhibe B9 D Benrdid

Options :

Increase in photosynthesis
Efﬁm&?ﬁ_ﬁ_ Ro@rH|iSch whBo @féod

Decrease 1n transpiration
@S Bah Sroi
o nd = (]

Causes skin cancer
S5 s=9)5 Benrdaing

Reduces Vitamin D,
., DODS D0 B0
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Which of the following 15 not a main function of a university?
(BobarDe&d DEDmgedho @nE) Eeed D6 5°0h 06?

Options :



Teaching

&5

Research

D680

Publication
[Bhtes

Extension work

D55 HI
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Who among the following defined education as "manifestation of divine perfection

existing in man"
“ErdHRE &) BOK HOFFEES 08 Savtiah D ©I ARDODS BHH?

Options :

Mahatma Gandhi
a’j‘?@grw 0

Jiddu Krishna Murthy
225 g0



Sarvepally Radhakrishnan
éﬁ&&’jg}q D‘“EJ“%%E

Swamy Vivekananda
TS0 DIsEH0E

i
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Which of the following core value among the institutions of higher education is least
mmportant to be promoted by the NAAC (Natronal Assessment and Accreditation
Council)?

erBaDH wodte HBcH 8oz oo (NAAC) 658 Do ﬁogwéﬁ 3}0@“05@&“{%5
Soroml Dendod’ o) (FrerEdy) sodo (Bod & D67

Options:

Contributing to national development

erBdird 08 &fehsn
1. % D

Fostering global competencies among students and teachers

Kimﬂgﬁéﬂnéﬁ SobBaio %ﬁvmﬁeﬂ}dﬁ}}@eﬁﬁ @oéqf:@ciﬁ} ﬁ“ﬁ%tﬁ) osrobodtsn
2. ® w

Inculeating a value system among students and teachers

3 % ﬁm@ﬁj@m-ﬁﬁ Sobako é;.%ﬂm‘gcﬁnméﬁ Densen Doarobodtisn

Promoting the optimum utilization of the infrastructure

L 508 SHHeH efoiBad Fand® dIGERDbLy DabEo
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Which of the following 1s not an objective of Rashtriya Uchchatar Shiksha Abhiyan
(RUSA)?
m%d‘u 658 DK% ©haied (RUSA) ofo 5206 (Bod a28° 067?

Options:

To improve the overall quality of state mnstitutions
ool arow DomgRone S wrepBih DosrohoBto
) Ful @ ful]

1. %
To ensure adequate availability of quality faculty
) Teeages e ﬁ@“m“;[ﬁ)]ﬂﬁa eotHartndd ﬁoé@ Do
o create new wnstitutions through upgradation of existing autonomous colleges
T t titutions through upgradat f existing aut lleg
(3o oo D858 EDAS Beraroed agyE ﬁaﬂr:m Eodto omoe S
ot TN
3 % mo%mt-éa n)g%}ozuda“m
To downegrade universities with poor wnfrastructure mnto autonomous colleges
g P g
S°08 DHihardsren KOMPBR DY DD Kabo HEDHE SeToenr
&80 K080 davito
4. &
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Besides Engineering the AICTE 1s concerned with education n the following faculty as well:
s0adB0R &@éﬁﬁﬂﬂn AICTE +# (8ob T8 B8 Hodobodd Dk SpRsrrremh driob.
Options:

Medical Education
oy
el el

1. %

Management Education
5 airressdoeryy ey

Pharmacy

@Ntﬁéﬁ Desg
3. %

Lab technology

ersds Ssmod
4, %
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What 15 the average product of a factor. if the marginal product of a factor 1s 45 and factor

elasticity of output 1 0.757

2 5850 taro8 68 45 Hbah =58 GH)E o 3E0 0.75 wond ko G Sty 68

oo 7

Options :



1. %
, % 4425
5 % 3375
v 6
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In relation to asymmetric information, after the contract 15 agreed up on. if an individual takes
an action that might affect adversely the outcome is called:

@:f:oa’gjﬂg SErorord Hooobod, oo STl ol aﬁ;é ©o&5H D) Dehrr Eﬁ@“@ﬁt} S
Disore Heohdod D Ddobrt ?

Options :

Moral dichotomy problem
8L 2PoS D

Superior choice approach
0NN wohs é%)ﬁ‘.tﬁo
a_ [+

Weak selection problem

2oirS Joh¥ & Eéé



Moral hazard Problem

ol el !—‘i:—.
4 & EF‘_‘JU EJSJJFGES ma‘j}mﬂ
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The basic relationship between change in the level of output and the volume of investment
spending 1s known as;

=] é);oaa& St Hidn E&J&a& Bedho AT e il hgenis Rlnil i) @?éfmé K00GeR)
Dshobrtn 7

Options :

Autonomous investment principle
eagio tﬁﬁlé LAV A se|Bo
ol [

1. %

Acceleration prineiple
33'{&553599 R’J:I"JE&%O

Marginal efficiency of Investment
tsaro8 Dipads rEbiso

Investment multiplier principle
Dipal Hesso s|go
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Which of the following s not true in relation to Duesenberry’s consumption function analysis?
C‘,:rg?ﬁmé Q@rK Ho ?Dé 255 KHomohod) E‘"o& =260 06 I\

Options :

There 1s ratchet effect 1n the short run

. szen sroodt oD E’::aj“a”m Sotnob.
1.

There 1s proportional relationship between consumption and income m the long run

&g} oo’ emrdbo 56 DI@ERK 53.]555 e, Hoaotio Gotnod
2. %

Consumers adjust their consumption not only to current income but to previous peak
meome
DA@PHRTED S0 DGR cLl sirnd wrdhos éﬁnﬁﬁf‘b SO é“‘”’“@ f’iﬁn;& wordhos”

3 % mii)m“é.n Sootr.

There 1s non-proportional relationship between consumption and income in the long run
E‘f}g} seof! erardd Hbdh J0ERTEO8 sogds odard Homolko ok
4.
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Okun’s law 1s related to the impact of change i unemployment rate on:
aﬁ}nﬁgj "’mﬁéo {a”}sﬂc‘jo. gjﬁjﬁﬁéﬁﬁﬁéﬁjéﬁ Bﬁé&, {Eo& et 5%:53 Ef:leaﬂaﬁo SrsyEob



Options :

Growth of domestic saving rate
adah Py 58 Tén

General Price level
Evplnts il nlels) %ﬂpm}

Rate of profit
em25ss) Béw

Qutput growth rate
&5)8 H Ot
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2

Who stated that “inflation 1s always and every where a monetary phenomenon™’
"t{écﬁﬁé_@v}mo agég’@ sn8ain t‘f.’)iﬁﬁaﬂ:n. ol Eﬁaﬁ&? SleFyhy cééﬁ Dndho™
ol QS e ?

Options :

Gunnar Myrdal

ﬁm&ﬁ ooee
1, ® 2

Milton Friedman
s E.\ =
S v @%5 @E&é}a



Paul Samuelson
e r‘ﬁﬁ&i}}'ﬁéﬁ e

W.J.Baumol

tang. 2. A vt
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Correct Marks : 2 Wrong Marks : 0

In a normal distribution. Mean Deviation 1s equal to:
FEmsy HobBE® D dSevo Bob &l T8 BEmSo ?

Options :

1.33 standard deviation
1.33 Fﬂ&ﬁjﬂfﬂﬁ SSensko

1.25 standard deviation
1.25 Lé‘l“nc‘faﬂtﬁﬁ SSensSo

.66 standard deviation
0.66 @ﬂéﬁjﬂfﬂﬁ SSeh0

0.80 standard deviation
0.80 @“a’:mc%ﬁ DiSedo
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Correct Marks : 2 Wrong Marks : 0

In a series of observations 10. 4. 6. 4. 8. 9. 4.6. 4. 2.6 the mode 1s:
a‘é_f}m&?ﬁ Rogge @E% 10.4.6.4.8.9.4.6.4. 2.6 ssT0%50 Dend

Options:

| )

6
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In relation to index numbers, which of the following test is based on shifting the base?

Xl Somge® Homofod, (Bob e 56508 2B srbo SrEND erEhd Gob

Options :



Random test
o S. st A
Uﬂmmﬁﬂ] méam

Unit test

5 % O5RE 505

Circular test
ﬁi@dﬁa éé&
3.¢¥

Square test

DaF A
4 % od Q5 wé'u._:_'_
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Correct Marks : 2 Wrong Marks : 0

The fourth derivative of the function y = 10x® +3x” — 5x+6 is:
v =10x" +3x? — 5x+6 em e :ﬂ:ﬁﬁgj a:.t%a‘aﬁ wnBosn Dend

Options :
6x—5

1. %

5 % 60x +6

3 % x—35



0 (Zero)
4, &

Question Number : 61 Question Id : 27028220061 Question Type : MCQ Option Shuffling : No
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A matrix in which rows and columns are equal 1s called :

@%o Hoeien 0dcin Jens) Hhden JsEROT &8 .:‘S}D@dﬁéa :

Options :

Diagonal matrix
DEY (&8

Unit Matrix
oy 1A a")}v@aﬁ

2. %
Square matrix
zﬁé&ﬁ@ STe|das
3. -
Scalar matrix
?75@_635 éﬁjﬁl&éé
4, % :
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Correct Marks : 2 Wrong Marks : 0

In relation to international trade. increasing Marginal Rate of Transformation of X commodity
for Y commodity results i production frontier that is:
woBTaD aEroid HSomofod af ey X 5P FH Sthentd

Y & ang) &0 K)PQ}& Tén 2Er0od 688 eisTo Otn esto Ad%orr  doknod ?
Options :

Downward sloping straight line
t&o&lﬂ &S00 SH5¥ On

Convex to the origin

Soorern8 Hogrs80

Rectangular hyperbola
o0 @8 JTHOcho

Concave to the origin
Horerd8 irseto

Question Number : 63 Question Id : 27028220063 Question Type : MCQ Option Shuffling : No
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Offers curves were derived and introduced into international economics by:
a56 eﬁ@éa}@%ﬁ: Sregrofiod), @oéq@dﬂ: aﬂ;,jﬁ!ﬂzﬁ @g%ﬁ@oeﬁﬁ E{Jﬁ% é%zﬁ:‘i‘: ot ?

Options :

1. %



Alfred Marshall and J.S Mill
E13) @E S shbaoin B.ohn. Db

Edgeworth and Alfred Marshall
06856 obdin =b E{}E Eniel ]

J.SMill and Edgeworth
2,455, & Hbdn JESE

Alfred Marshall and Samuelson
1) @E mg@ S0Bdsn %Daﬁm,jﬁﬁﬁ
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Correct Marks : 2 Wrong Marks : 0
The type of tax in which the tax rate remains unchanged. for each unit of the tax base. 1s

called?
B8 el Gt 5 BEro08, Sy By SrEH0Te G0t Hif) TR Ahotrth ?

Options :

Marginal tax
&arod sy

Progressive tax
D8 rran iy



Regressive tax
&8 e o 53630

Proportional tax
eiard i)

Question Number : 65 Question Id : 27028220065 Question Type : MCQ Option Shuffling : No
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In relation to fiscal policy. what 1s formula flexibility?
&% Dorard® Homobod, Slel-L m@éo w5 B350 ?

Options :

The use of discretionary fiscal policy alone to solve the problem of unemployment

1 % VOEHe B $8:5PoBErNE DSKEEY B drar) SrEd aBd@rhoiio,

The use of built-in stabilisers alone to control price rise
55 DD AoHBOBErDE, HEHHE’ 6ot HOKYL FTret SHEDed@ErROSLO.

The use of non-discretionary fiscal policy alone to solve the problem of
Unemployment
mtﬁaﬁﬁﬂﬁ@“ SIS ﬂ&é@rﬁoﬁé.jnﬁﬁ &Wﬁéﬁéﬁ eby DEeaei) E.’njﬁﬁjﬁa

g GRAEAOTL0.

4.



The use of discretionary fiscal policy along with built-in stabilisers to control
fluctuations in unemployment and prices

D&RAS Db SBodd 5T T dhed IehHiBodird8 Diker Hro 8y Dorbosd
) A 4 R L

Lad 4]

artn S8 G0t 2888 rSTed aS@rRoSho.
2E

]
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Change 1 high powered money (H)=Rs 50 crore, change i Currency-Deposit ratio =0.5 and
the reserve deposit ratio= 0.10, then the change in money supply 1s:

25 8§ Lc“:ﬁ&i;oéﬁ ey =50 8%y Sraraben, K0 -
Barab D586 Srty) = 0.5 HBom Beby -
B3r86 058" Srty =0.10 eond S5 SHE" ety o8 2

Options :

Bs 125 crore
1« 125 8% tmaraben

Bs 160 crore
160 8% Grarchen

Ps 100 crore
100 &% srarchen

Es 83 crore

4w 83 &%, Baraihen
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Correct Marks : 2 Wrong Marks : 0

Which of the following is the S®sustainable Development goal?

a —my B a9, ¥, B o D8 7
L:_,D&l aTFRE", rﬂr@uﬁ”ﬁj@% @ng) 5 & ©fo b °
Options :

Quality education
e A lwN
FEagEe K

Gender equality
Dorf Dm0

Good health
SN0 @65@0

Reduced inequalities
SRamnse é@oé}
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Correct Marks : 2 Wrong Marks : 0

Which of the following is a new category of Non-Banking Financial Company (NBFC)?
Sob 08" D6 arBonss DY BoBd dnk) $rdko 850 ?



Options :

NBFC- M2M

> NBFC- P2P

NBFC-528
3. ®

NBFC-HZH

4. %

Question Number : 69 Question Id : 27028220069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The msurance penetration in India m the year 2021 was :
2021 & Ho&50s’ rEEBEos® Hir ol

Options :

4.20 percent

_— 4 20 sreo

5.42 percent
0.42 Fr&Eo

2. %

3.49 percent

3 % 5.49 w0



4.77 percent

4 x ATT @80

Question Number : 70 Question Id : 27028220070 Question Type : MCQ Option Shuffling : No
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Which of the following statements are true?

L&oﬁ} lu":lét}ﬁméﬁ 0D 2. ?

a) Internal economies of scale relate only to the long run
@oe‘éﬁéé EBsr s ég?@n?ﬁ é}ﬂﬁﬁ] H0206005D

b)  Internal economies of scale affect the shape of long run cost curves
@oe‘éﬁéé #8:r sren &g}mﬁ}ﬁ Eﬁgcﬁ: e S5PTPR)) laiajuélleﬁo 3@0}3

c) The economies realised by a firm by paying lower prices to nputs are known as
real economies
&8 ek #58 Gder oo o 5’305&} $P0D wore THNE eren
@0,

d) The economies realised by a firm due to improvement in productivity of inputs 13

known as real economies
&858 EVIATVE D) e 5EE DHiNHh0 S0 E&o§ £rod smred TR sTren

eobmE.

Options:

a.b.candd

a. b, c 0BsS» d ;ﬁﬂﬁéﬁ)
1. %

a. b and ¢ only

a. b $Bd5o ¢ ;’nutéé}
2. %

a. b and d only

a. b 5b8cin d aijvtééa
3.¢



b. c and d only

b. ¢ $8at d SmEaH
4. %
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According to Bernoulli hypothesis, the decision to participate in an event involved with
risk and uncertainty depends on :
D68 50%en E’amrﬁo. Kjiqﬁcﬁm SoBasn @?J%&@gﬁ Lt a8 HaotTe &‘k‘éjﬁ&}o i
Aabo BRD erEddh Gotnod 7

a) Expected disutility of monetary gain from that event
© S0t Hol Trod Eﬂ&‘zg}aﬁé@_}ﬁ @@ ol Eﬁél:, @Eénﬁ}nm{“éog
b) Prize money from that event
o D05 $od &Fod mire B0 B
c) Monetary gain from that event
© &30S o8 &rod B558ES of B
d) Expected utility of monetary gain from that event

w© &30S o8 &rod (BG5S of Hob &lrods Hdrato B
Options :

¢ and d only
¢ SBcn d SmEsh

b and ¢ only
b sobcin ¢ SmED
2 %

a only

a mﬁgé}
3. 3



d only

d -‘:‘S«Iﬂﬁéﬁ)

Question Number : 72 Question Id : 27028220072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Which of the following statements are true in relation to the second fundamental theorem
of welfare economics?
éoﬂé: @gﬁ“@o 0¥ &:\J@édﬁn tﬁ“é&bé ?c-m;omﬁﬁ wHoaobod) @o& RE 5 L{Jﬁé}é@}ﬂw@ ?
a)  Agents have concave preferences

Z‘moéﬁh g wdhihen Pérstore Gotron.
b) Problems of efficiency and distribution can be separated

éaﬁ:gé B30 HohB: HomoBodS SRS LR sy

¢) Agents have convex preferences
SJ@DQIJ:N\ 0¥ ol en HoorsSorr Gotran.

d) Problems of efficiency and distribution cannot be separated
éaﬁ:gé B0B050 HoDEE Honobodd Ssbigen BRI Henotits.

Options :

b and ¢ only
b $0B8c5w ¢ 5}0[;&3}

\.'..-/")
a. b and ¢ only
a. b S8ac5n ¢ aijn{féﬁa}
a. b and d only
a. b 6o d EmEah
3 %



¢ and d only
¢ 00k d SmEsh
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Which of the following statements are true in relation to Keynesian theory of income and
employment determination?
éﬁl\) (o) eTrdd aﬁﬁéﬁ@“ R}gcﬁj} ?ocgowﬁju 2020608 L&oﬁn E.’Jﬁé&é@éﬁ o) 2y ?

a)  InKeynesian model, the aggregate supply curve 1s perfectly elastic up to the level
of full employment
5513 et 5{:@5‘5&%#"1@ ﬁgcm 555 By i B 70 m%ﬁaﬁ@ﬁ@ KDR
08006,
b)  Keynesian model assumed that the marginal product of labour 15 constant up to the
level of full employment
éo@ﬁiﬁ%ﬁw %@ﬂomé’fo E‘:"&}ﬁ taros gt ?glﬁom 0800858 ﬁ!‘f}; St
tﬁf})cﬁ}o Jabtoo e:BRob.
¢)  Keynesian model assumed that the money wage rate is not constant
Eﬁég Fe6: Oty Qore Gototin éE{J Smrsd Eﬁgﬂ)cﬁ}o Dabbo wbROB.
d)  InKeynesian model, the aggregate supply curve is unitary elastic up to the level of
full employment
8 Ssrad’, SodrBBhher Son 6% Bang S5 Bp DK aEiSexd) SDA
308006
Options:
a and b only
a basn b S
1.¢
b and d only
b HBosn d ErEsd
2. %



a.b and ¢ only
a. b $8d5» ¢ a"mﬁééa

¢ and d only

Sobcin d Smsah
4 % C éﬁJ“L
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Which of the following statements are true in relation to non-parametric tests?
e é‘!ﬂé{}ﬁ@]@ﬁ ﬁéﬁpt‘.} Homobod L&oa ol o E.éééa;ﬁw ey ?

a) These tests are distribution free
29 HodBE® HowooBd HbZen
b) These tests do not depend up on population parameters

% ﬁéﬁ_ﬁn eTrgr HURNehe D Srdnd Gotls)
c) Chi-square 15 a non-parametric technique

8 -Jpb a8 o8 oedE JL8

o @ |l_, [~

d) Sign test is one of the non-parametric tests
28 908 a8 &8 argoeab| 85 5658

Options :

a and b only

a@ambmgﬂa
1_23

b. ¢ and d only
b, ¢ 3oBcsw d ﬁjﬂﬁiﬂa
2 ®



a. b and c only

a. b 8o ¢ mﬁjcﬁ;
3. %

a.b.c and d only

4 a. b, ¢ Zb8dko dﬁjﬁﬁéé}
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Which of the following statements are true in relation to regression coefficients?
EBHDS heased tonofod Bob [EEbes® DD ad) ?

a) Both the regression coefficients will have the same sign
BotH [SBHS hmseen a8 DS HtH SOA dotran
b) One regression coetficient may be positive and the other negative
g [E:u*@ﬁeﬁné eso fﬁm"ﬁéﬁc}ﬁ“ SHBTnES mz‘aﬂé&ﬁom &Dtﬁ&"ﬁ}&
¢) One of the regression coetficients must be less than one
2l EH8K5S rHedo D a5)fiSod SX)Se Gord
d) Both the regression coetficients may be more than one

dotdh La:ﬁ@ﬁaﬂ:ﬁ fomsre Densen a.50508 afoéairw ﬂod;ﬁfﬁ:{j
Options:

a and b only

a s0bdin b Hab
- a EﬁJDL

b.c and d only
b.c ban d SmEsd

b and ¢ only

b shBdio ¢ 5)3*313‘533



a and ¢ only

a s0bcin ¢ éﬁvﬁé&rﬂ)
4.

Question Number : 76 Question Id : 27028220076 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?
Bob [B80508" DD 2 ?

a) The number of rows and columns defines the dimensions of a matrix
@téc: S85dd Seam Rens) e ﬁ@mﬂg 8 é}o'@aﬁ rﬁoﬁé a’;nijt%@;@} 3553@051.
b)  Inasquare matrx. the number of rows equals the number of columns
R0 SrEsS’ e Sthite SO0 Mend) Sthie Howy S0 Gokwob.
c) A matrix 4 x2. implies that it consists of 4 columns and 2 rows
4% 2 ek E{HDE'_%&. 4 Denz) Hhien shddm 2 @%’0 e e Srdinob.
d)  In relation to any matrix, for example B, b3 indicates the element in second row

third column
gl E’)ﬁ@sﬁﬁ} No@ofodder, twdEtntd, B, bx wih Do @céo 56 Svbdsn
S Dend) HHH6R wod) BOHENE.

Options :

a. ¢ and d only
a. ¢ Hddsw d aijﬂﬁéf;}

a. b, c and d only
a, b. ¢ shbain d &ﬂjﬂﬁéﬁ}

a. b and d only

a. b sh8cin d 5’13&{{553
3.¢



b and d only

4 % b shBdw daﬁ}nﬁﬁﬁn

Question Number : 77 Question Id : 27028220077 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

In relation to Heckscher-Ohlin theory. in comparison with X and Y countries, which of the
following statements are true?
3305“35 - L8P0 Ejmgo@“%& Somobod X Hbdn Y doed ﬁﬁ)& iirtibo oy tﬂo&)
Eﬁﬁé};@@éﬁ 08 a.d) ?
a) X 15 said to be capital abundant. if the relative price of capital i X 1s lower

than Y

Hmetsso g §6, Y 6 so8 X & s ¢odl, X fmerss Soxgs
o B0 ©9 wobtrth.

b)  Xissaid to be capital abundant. if the relative price of capital 1n X 1s higher
than Y
Hmetsso g &6, Y 6 so8l X & e eodl, X fmerss Soxs
Ko Do © wobrt.
c) Y 15 said to be capital abundant if the relative price of capital in Y 1s lower than X
Soregito g ¢, X & K08 Y & 858 tol, Y el Seiints
Ko Do © wotrth.

d) Y 15 said to be capital abundant if the relative price of capital in Y 1s hugher than
X
Soregito g ¢, X & goB Y & a&sr tol, Y el Roi)iE
e B¥0 o sotrth.

Options :

a and d only
a b0 d SrEa

a. ¢ and d only

5 % ﬁ.cé}nﬁcﬁ}}dmﬁéé}



a and ¢ only

3 ¥ a SoBdsn © m:-tzséa

b.candd only
b. ¢ obain d éﬁtﬁﬁﬂj

Question Number : 78 Question Id : 27028220078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0
What does the J-Curve effect indicate?
I- é{?éa) LS’JE.FKJD a9 Rrainod 7
a) Devaluation will initially reduce balance of payments deficit
sex B, @“Eﬁoaioéiﬁ oo 208" St ﬁég@oﬁ'}.
b) Devaluation will, imitially, not show any impact on balance of payments deficit
sex B, @“Eﬁoaioéiﬁ BhoHe 25080 efiﬁf«;in';'g atnHof l&')ﬁjﬂa’ao VA TAYE

c) Devaluation will initially make balance of payments deficit worse
a’a}Jﬂe_Jeg_ S B, @“Eﬁoﬁoeﬁf‘ DIDoghe o6t ﬁé}]‘;’g E’::Eéﬁ}nm E’aajﬂaio Trayeob.

d) Devaluation will initially wipe out the entire deficit in balance of payments
smex S B, @“Eﬁoﬁoeﬁf‘ BoHe o6t dndo Shini Fofthod.

Options :

d only
d -‘:ﬂjﬂﬁééa

cand d only
¢ s0Bacin d Eﬁ]ﬂtééo

¢ only
c aijﬂﬁéﬂ}



b and ¢ only
b s8d5o ¢ Eﬁﬁtﬁ&rb
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In case of public goods. free rider problem arises due to:
508 HhHe DNcHod’ BY Hreore '%éa::. Dol Doy JthdEod :

a) Lack of ownership characteristic of public goods
SOE SHPHe cresrsy ofpo S5T5bo S0l
b) Rival characteristic of public goods
D88 Hyen Fhiy oFmo EDA Gokko DeH
¢) Non-excludability characteristic of public goods
HHE SHhHe DAGrN0 H08 B IOICHERED oFmo SoP
d) Excludability characteristic of public goods

28 SHhPe DAGErN0 Hof 2H6FT DT ofmo Sed
Options :

and d only
Sbasn d HomEah

]

o]

and d only

- Sbain d SeEs
¢ only
c S

3.¢
b only

4% b E’):rﬂ[gﬁa
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In relation to the theories of public expenditure. ‘critical limit” hypothesis 1s associated
with the names of:
Ifmjé& Hpdh Emgc:@ﬂ@*fa somobod, '|E§§6 DT ' 568 250 Ia‘)géﬁ& somolo

EDA Gobh 7

a) Lerer
Gle)ld

b) Colin Clark
05 =5

c) Simon Kuznets

DS HEIE

d) Tullock
énel

Options :

b and ¢ only
b

Sobdsn ¢ ss.;utzﬁn
1. %

¢ and d only
¢ Basn d SmEd

and ¢ only
oBdm ¢ 535{{53}

B R

and d only
sobasn d aijvﬁéﬁ}

= pi =
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Which of the following are money market mnstruments?
t&o& TAED DD E‘Saﬁﬂg a“ﬁﬂgﬁ aeiSaeen 7
a) Treasury balls

Liﬁﬁ!ﬁ Denen

b) Certiticate of deposits
BaratS K638ty
c) Call money

e ﬁﬁ&‘iﬁqﬂo
d) Commercial paper
ardde H|Eo

Options :

a. b and ¢ only
a. b B ¢ HwED

1. %
a.b, ¢ and d only
, o %b ¢ Pbad SSo( &3
b. ¢ and d only
b. ¢ bao d EmEad
3. %
b and d oaly
b Héai» d &‘Sﬁlﬁéﬁa
4, % -
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Which of the following are not the functions of RBI?
Eﬁoﬁh e’ 0D a}ﬁ-ﬁé@aﬁé agotH @ng) dghen 25y ?

a) Lender of last resort
0&HD DTS

b) Direct sanction of loans to Individuals
arE@RD {ﬁéﬁom Zocarer snoemiD
&l —o ¥ [

c) Direct sanction of loans to industrialists
é)ﬂ&@"«"ﬁbé BETLS (DEEore anere Hoemd

d) Credit control
FSleL:oL L] F\Jcﬁmﬁ'ﬁm

Options:

=]

b and c only

a. b Hbcwe aijnﬁéﬁf.}
1. %
b, ¢ and d only
b. ¢ oBcsn d mﬁjﬁn}
2. %
and d only
Sbcsn d S
3. % éJDL
b andc only
b B ¢ SmED
4.+
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Which of the following 1s true m relation to Adam smith’s concept of division of labour?
tsscicﬁ} Rﬁéﬁ @o¥) D graind Homohod, Eﬁo& 06 29 2] 7

a) Drvision of labour leads to specialization
(55 Defers (ALK rBEK0B
b) Drvision of labour improves productivity of labour
tﬁ‘&ﬁ] e tﬁng_‘aﬁ GEn\BEED DD Db
¢) It leads to inerease time required to produce given level of output
t‘ﬁ’aﬁj Dafen a8 KJQ% ﬁpﬁuﬁ %;om RN @la’}éfﬁaﬁzé}é ﬁﬁ)dﬁ}ni‘& Dohiod.
d) It leads to improve the skill and efficiency of workers

t‘ﬁ’aﬁj Dafen S“‘@@fﬁﬁl @@Eﬁﬂé&& snBdin %ﬂ&'}:@ﬁ?@_ﬁ]tﬁﬂb Ao VSVelA

Options :

a. b and ¢ only
a. b Hban c HEmED

a. b.c and d
a. b. ¢ Sobaim d
2. %
a.b and d only
a.b @basn d HmE
3.¢
¢ andd only
. c b d SwED
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Which of the following are the assumptiona of Joan Robinson’s golden age model?

L&o& Tt 0D &5 od5HS @) M&idﬁ}}ﬁ Somare @3}{&‘3}5&:}
a) Te»hmml neutrality
BB Eééap:né:é
b) T.ff age earners save their entire income
ST @g}oﬂ P sordho Ando sRthi) ﬁé—_‘ﬁﬁ)
c) Labour and capital are the only factors of production
(850 b0 Hrerto SMED eH)E T
d) Total income 1s divided between wages and profits

a0 @mcﬁvm&_ﬂéﬁm Snbdin ergrenre Sodbo 2firhéhob
Options :

a. ¢ and d only
a. ¢ obdin d mﬁgﬁj

1. %
a. b and d only
5 % a. b o8ain d E'JJGEiE:J
b, ¢ and d only
b. ¢ bckn d SeED
3. %
a. b.c and d
a. b. ¢ H8cio d
4. %
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Which of the following statements are not true in relation to methods of environment
valuation?
R0 Dends HB0Y HEe Howofod, Bob [ELLes’ DD &) ?

a) Contingent valuation method is one of the methods of environment valuation
@é&ﬁ anboa éé@ DoPE5Ee0 Dend o) ég@méﬁ asé

b) Contingent valuation method is a direct method of environment valuation
@5'3,&5 0808y éé& DoPgRtEe0 Dend 0D HonoHod {E?é&@ égii&

c) Contingent valuation method is an indirect method of environment valuation
@5'3,&5 0808y éé& DoREs0 Dend 0D Honofokd ta:’JSGQ {Jgn’;&

d) Travel cost method is a direct method of environment valuation

..;

@'Jdﬁ)vea 3’:15@53 &%E‘s Kitrga’)fﬁsao dend) soboad Lonofodd @éﬁ c:J
Options :

and d only
sobasn d Eﬁ:ﬂt&éﬁj

@

=

and d only
b Hban d S

b. ¢ and d only

b, ¢ sobdiw d mﬁé&
3. %

¢ and d only

c HBan d S
4. =t
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Which of the following statements are true in relation to Coase theorem?

) R)m;oﬁum& Somn0b0od), @o& l{ééé}?ﬁ@éﬁ Ay i 7

a) Government's mntervention leads to economic mefficiency
(20 &0 ©BY eHEED osKb.

b)  Bargaming between the polluter and the victim leads to optimal solution
srenal PUen Sban sendo He é%a’ﬁ B i 267 Dorroedoidad
20arR8 wrodkon.

¢)  Assignment of ownership rights on natural resources lead to socially optimal use of

natural resources
Rire S8 diredrdy s 5%05];’3&9001)@, & srEpen dire S8 Foint edeond

o E5GTPTH8 ThBTan.

d)  Assignment of ownership rights on natural resources will not lead to socially optimal

use of natural resources
Rere DD ciﬁ:mcﬁ:rﬂ?dgj 6”3“5)&@} 5@&0&?\‘@“0}3@. =] éﬂt‘.}@m Here Suthe Frotnd

wdoidah &v@mTId Todars.

Options :

.b and c¢ only

-

a.b H8cdm c m{gﬁa

=~}

1.¢

=~}

. b and d only
. b boin d SeE

&3

b and d only
b Hban d S

j=~]

.c and d only
. ¢ shbain d a’:m@ﬂ':

=]
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In 2022, India’s trade deficit hit 100 billion dollars for the first time with which
country ?
2022 5% ﬁoé‘éé{:ﬁaéﬁ, arbE By ﬂ“ﬂﬁc"ﬁ Siin 5 G¥os&® Fusdarer 100 HDEHS naldletsy

Doh.

a) United Arab Emirates
nPBE ©BH A0

b) America
eshbse
c) United Kingdom
cng@h Sohtiem
d) China
D
Options:

a. b cand d
a. b. ¢ S08d5%n d

a. b and d only
a. b Bcio d eﬁjvﬁiﬂa

b and ¢ only
b B ¢ SmED

d only
d ﬁjﬁﬁ“ﬁcﬂj
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The Government of India launched the National Agriculture Market (e-NAM) scheme mn 2016
to :

58 (g0 2016 & E-os’)én)fﬁé}:aéﬁ RaD HgRaPaD Srg)(a-dRaai HEs) o é@%’eﬁwéﬁ
[artofodod

a)  Create an online transparent system
603R Sorigs SGEgd draroboticz=R8

b)  Create a competitive bidding system
28 O&oh S BrarobodeeRs

¢)  Tocreate climate smart farming

TEnbe %@{5: S BP AR @%@aﬁcsﬂﬁjﬂ

d)  To ensure farmers to get remunerative prices
Belh edfakd e ofloder SrEEo8

Options :

&o

. b and d only
. b 6dw d m@sa;

=~}

1.+

. b.c and d
> % A b.c Sobdso d

o

b.c and d only

b.c bon d SmEad
- C K)JDL

¢ and d only

¢ Hobabo d EmEsh
4, %
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Assertion (A): Technologies that are cost-effective lead to inereasing returns to scale
at high level of output
E}B&Eﬁ"'a (A): Hpob S:BED SOAK roS8E Hijthen ©fY 688 Sran Y

B wﬁmfnoha m:‘ia:"ijeﬁoé“ FP_BQJ'EJ“@J mﬂﬁé“‘“m

Reason (R): Technologies that are cost effective generally have higher umt cost at

lower levels of output
rEH R): o DEED SOAN Srosay Do Sof S 668 o 34,
Dién Spoho QEpRT Gotnod

Options :

A 1s true and R 1s true. But R 1s not the correct reason for A
A Luc@L soBdin R w@;} sen) R A S D306ahs D88, =oth

A 1s true and R 1s true. R 1s the correct reason for A
Aad) 0Bain Read) 520 R. A% D0Ghd Da6es

A 1s true but B 1s false
A m@. 50 B éﬁ@

A 15 false but R 1s true
A 88 =9 R af
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Assertion (A): According to Bain’s Limit Pricing theory, above the limit price. there
1s uncertainty regarding the sales of the established business firms
E}Bﬂpﬁﬁ (A): DBows ¥ 08 &Y %Jm;oé:éo E’asnrﬁo, 30508 % DR, E’;@éo
N E"éé‘f‘aﬂﬁﬁa@ @5%“5 Howe Bdnstes Hoaodod) et
W o —= [ “ )
&0otnob.
Reason (R): New firms enter the market if the prevailing price 1s more than the
limit price
‘i‘;"é:n"g) (R): esend’ 1%36;!_ B0, Hbape 58 Sold Qﬁ}&&iﬁn &0 g8 éoﬁ@aw
o &° @3&—3‘5@3.

Options:

A 1s true and R 1s true. But R 15 not the correct reason for A

Aag)) obdiv Reaag) 520 R, A J050S Jeibes 5°th
1. ®

A 1s true and R 1s true. R 1s the correet reason for A
A E.J@ SoBcn R.a.:%,, s RBRAS ﬁﬁ@}?ﬁ Dastses
2.

A 1s true but R 1s false

_— Am&l} 508 Ré{g‘&

A 1s false but R 1s true
A ﬂéﬁ;ﬁ =0 R a,@,
4. %
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Assertion (A): In the classical model. the factors operating on the demand side of the
market determine the level of employment and output.

[BB>BS (A): shES BriS6°, Sr0p5 Airol Biy HATD seBsren Gk HOED
&8 %;mﬁ) RBomakan.

Reason(R):  In the classical model. labour supply 1s a function of money wage

&9 (R): %“Lg)a[ﬁj S’ Sﬁﬁgﬁ HEHor 036 ) S0 Ging) DY.

Options :

A 1s true and R 1s true. But R 1s not the correct reason for A
A2 6ain Rad). s20 R, A% 50ahd D58m s°th

A is true and R 1s true. R 1s the correct reason for A
A a.d) bain Rad). 520 R. A% H0ahd Dd6es

A 1s true but R 1s false

Ay =0 Ramn
3. ¢ =

A 15 false but B 1s true

4 % A é@sﬂf‘u R eua’g‘gj
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Assertion (A): The equilibrium rate of unemployment towards which the economy
moves in the long run is called natural rate of unemployment

E.’)Bﬁ"&ﬁ (A): @%5 555“%1615 égﬁﬂmﬁ)ﬁ RenE e ésﬁﬁ'ﬂvﬁ@“ B Heee ﬂﬁaﬁﬁéﬁﬁp
Béw wobrt.

Reason (R):  In the long run. the Phillips curve is a vertical line positioned at

equilibrium rate of unemployment
D) R): ég}sﬂ)ﬁ HEhE ey B&&ﬁéﬁ@%&w a-acg,, SO eﬂ@ésg Y egroel8

S0t Tare dotnod.



Options :

A 1s true and R 1s true. But R 15 not the correct reason for A

1@ Az obdim Reag) =0 R, A J30ghs Dd8es s°th

A 1s true and R is true. R 1s the correct reason for A
A ey Sbain Rad). 520 R. A% H0ahd D,

A is true but R 1s false

- Aady 520 Ré@

A 1s false but R 1s true

4% A ﬂi&'};b:, =0 R Eu@,
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Assertion (A): The number of terms in a binomial expression 1s always n+1
t.-‘..')ﬂ-ﬁvﬂn;’:- (A): &réééﬁ éﬁﬁt&méﬁ BOTe) éoa:lﬂg &J&@*&iﬁ} n+1 e Gotnob.
Reason (R): The binomial distribution is skewed to the right if p < 0.5
T&H R): p<05m ¢od & Hobd D88 Soh otnod.

Options :

A 1s true and R 1s true. But R 1s not the comrect reason for A
A ﬂw@, s0Bdin Rﬁw@ﬂ} seR) R A B J8GhS 2586 5ot

A 1s true and R 1s true. R 1s the correct reason for A

5 % Ay sobdin Ragy, 520 R. A I3 D58



A 1s true but R 1s false
A m@. 570 R éi’%}

A 1s false but R 1s true
A éé&{, s R euajgj
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Assertion (A): There 1s inverse relationship between sample size and sampling error
[0BXBS (A) @ SI0HS HoEPEIE DD (HEBADD 8iarR8 o 65 Komolo

&0dnob.
Reason (R): Sampling error usually decreases with merease i sample size
'&“e‘i)o"g) (R): @@ﬁdﬁj& HBSPEo RHINEP G0l Argrbnore {E{)@zﬁdﬁnﬁ &0
SrpEod.

Options :

A 1s true and R 1s true. But R 1s not the comrect reason for A
A a_.@, soBcin R aﬁﬁ} sn BAD ﬁ-@@}?ﬁ Dt ==t

1. %
A 1s true and R is true. R 1s the correct reason for A
A2 0bain Rad) 50 R, A% 550G D88m
2.

A 1s true but R 1s false

3 % Ay 520 Réa'g‘&



A 1s false but R 1s true
A &8s R oay)
4, %

Question Number : 95 Question Id : 27028220095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): The number of elements 1n a set 1s known as 1ts cardinal number
E{)B%"E:Eﬂ (A): a8 ¥ 5adh) womre Hoggih ©Hind o) T&K}é Hogy ©olrt.

Reason (R): Cardinal number of any set 1s denoted by n (4)
>HY R): 2 50H& @» %) =056 Domgdm n (4) e IrdFTH.

Options:

A 1s true and R is true. But R 1s not the correct reason for A
A Euijl} a8 Reu@, 570 R, A 306ahd D88, s°th

A 1s true and R 1s true. R 1s the correct reason for A
A e 0Bain Read) 520 R. A% SBahd Dabes

2. %
A 1s true but R 1s false
Ay =0 B &g
3 % o)) al))
A 15 false but R 15 true
A #5=0 R aim
4 % o)) alj)
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Assertion(A): A matrix in which number of rows and columns are equal 15 called a

square matrix
E{)Bﬁnﬁﬁ (A): @éo Steen HbAH Den) Soen DEESorr ot 5}0@5&

iatatels) é}n@aﬁ woldT8.

Reason(R): A matrix 1s called a unit matrix if all diagonal elements are zero and
non- diagonal elements are unity.

&G R): o m@§6ﬁ ©])) E8sureseen dragor Hbdin ﬁgeﬁt’n SrEeseen
DEdO G0l enHod SHBSH DK SPES wotr.

Options :

A 1s true and R 1s true. But R 1s not the comrect reason for A
1 % A &@. SoBcso Rﬁw@;}. s BAE ﬁ@@}?ﬁ D5tle =%

A 1s true and R 1s true. R 1s the correct reason for A
Aagy $6am Ragy 50 R A 56&S D56

A 15 true but R 1s false
A a@. sea) B Eé&’];b

A is false but R 1s true
A ﬂﬁ@j =0 R a.@j,
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Assertion(A): In a free trade area. all tariffs are removed on trade between member
nations. but each nation retains its own tariff rates against non-members
(BBBS (A): Ry B8 Erodiod’ KafBere itk S8 Moser ok, T S8
@5%0@'& m%éém GH) éraﬂe;';'.g, Em)éan Hank a@@é B Hosred
ﬁjﬁoﬁéﬁg}
Reason(R): A customs union 1s a free trade area with common taniffs against
non-members

%% (R): 555 dhrPReHS 36 Sefeo 89 BT 28 85DS hosod DHod

) $YE jarogo.

Options :

A 1s true and R 1s true. But R 1s not the correct reason for A

Aagy) o8cdin Reagy. 520 R, A J60S IS8 5°th
1.4

A is true and R 1s true. R 1s the correct reason for A
Az obaim Rad) s R. A% 3038 D

A 1s true but R 1s false
A au@, s R é@

A 1s false but R 1s true
A ﬁjﬁb‘j =80 R Eu@,
4, %
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Assertion(A): According to absolute advantage theory of international trade. the
value of a commodity 1s determined by number of hours of labour
employed to produce that commodity.

E’)B&E:;ﬁ (A): @odétgéfdcﬁ} B8 @nE) mfﬁﬁjﬁ Eﬁtﬂ]ﬂﬁiﬁ &m;oéo [ajjsndo_. a8 Dia)
ﬂﬂ%@& aRa@rRods t‘é’a‘b Hobe Hogy, & Sy Jendid ng@oﬁh

Reason(R):  According to absolute advantage theory. labour 1s the only factor of
production.

%ﬂé).‘:’;) (R): R}fﬁ'fai @cﬂ:ﬂmé ?im{;oéo [{35'“{50, (B30 &ﬁjﬂ@:ﬁ} t%éﬂ:,ﬁ arGEo.

Options :

A 1s true and R 1s true. But R 1s not the correct reason for A
A ad) 06ain Rad). 520 R. A5 H8G& Db s°th

1. %
A 15 true and R 1s true. R 1s the correct reason for A
A m@, soBdin Rﬁwa",m. s B. A% F’::E}@}ﬁ EAEste )
2.
A 1s true but R 1s false
3 % A sy =20 Ré@
A is false but B 1s true
A &850 R asm
4. % =
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Assertion(A): Ad valorem tax 1s responsive to the changes i weight or value or
weight and value of a commodity.

E{)Bﬁ“ﬁﬁ (A): Dend wgrdd 5y HnE) D B ahy HOEH Denddd ELe N
Qy0B06.

Reason(R): Ad valorem tax 1s a direct tax

P (R): Dend oprbd 55 B Sy

Options :

A 1s true and R 1s true. But R 1s not the cormrect reason for A
A Eu@, SobBcse R aﬁ“{:ﬂ s BRAY Rﬂ‘ﬁ@}?ﬁ BB =%

1. %
A 1s true and R 1s true. R 1s the correct reason for A
5 % A2 bain Read), 520 R, A% S0@hsS D88
A 1s true but R 1s false
3 ¥ A a@. 5o Ré?{g}iﬁ.
A 1s false but R 1s true
A a8 =0 B aim
4, % ""' =
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Assertion(A): As per article 211 of the Constitution of India. each State has to
present its annual financial statement before the state legislature

E’)Bﬁnﬁﬁ (A): zr58 oeeoriod™ ©f8d 211 (Heebo. [HEToEo, 85 HonE)BE
DEDEHD T TREHYPE (HIEDETO.

Reason(R):  Annual financial statement 1s called the budget

Eli ) (R): Tod&bE 28 éﬂﬁgﬁ) aagéﬁ wolrt.

Options :



A 1s true and R 1s true. But R 1s not the correct reason for A
Ay S0bain Read) s°0 R. A% H0Ghs Db, soth

A 1s true and R 1s true. R 1s the correct reason for A
A2 S0bain Rad), 520 R. A% S0@hsS D56

A 1s true but B 1s false
A a@, =0 R pﬁ@

A 1s false but R 1s true

4 A &350 R o2
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Assertion(R): Credit rationing measure of RBI aims at controlling the direction of
credit tlow

E’)ﬂﬂ"&ﬁ (A): Beby amoH @) KB5S BHVoR S8 HBHS [FHeri HF AaDo|Be
6380008.

Reason(R):  Credit rationing is one of the measures of quantitative credit control

tools of RBI

TEPH (R):  0aby aeoh Gink) SoSrerE)s H558 dahol@n s’ H5He

B500h ai8.

Options :

A 1s true and R 1s true. But R 1s not the cormrect reason for A

Aag)) obdiw Readgpy. =20 R, A J0GHs Db s°th
1. %



A 1s true and R 1s true. R 1s the correct reason for A
A 2. 0bain Rad), 520 R. A% H60hs Db

A 1s true but R 1s false

A sy == B &y
3.¢ =

A 1s false but R 1s true

4% A #3psh R Eu@j,
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Assertion (A): According to Romer, Public and private investment in human capital
generate external economies
(B8>S (4): EHE Bebo, HrSs Hrerios’ T (558 HOH (Howdt
Dipathen 2irgE ewod Q.
Reason (R):  Investment in human capital leads to improvement i productivity
and thereby off set the natural tendency of duminishing returns
THY R):  SedS SrerHod® a6 igal, GenEEED Dodbo oo S

?ocgorw sﬁd gea (B&HereD QEEQ@OEJ.
Options :

A 1s true and R 1s true. But R 1s not the correct reason for A
A aﬁl} sobdin R&@., s7n) R A B 506ahd 5be s=th

A 1s true and R 1s true. R 15 the correct reason for A
Az s0bain Read) 520 R. AH D500 Db



A 1s true but R 1s false
A a@, 50 R é@

A 1s false but R 1s true

n A é%TSR&@
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Assertion(A): Rostow suggested that the under developed economies should mvest
20% of national income 1n capital formation to accelerate economic
development

[B8r6S (4) : eDih Sobs Bven, SR FtboBo Taherdd &5

[~
arBafrorahod’ 20% Srels o iyl dored 8 rdowt.
Reason(R):  According to Rostow, raising the rate of saving and capital formation
determines the pace of economic development m underdeveloped countries.
S (R): 55@3 (ss=80, @%&-2@% 3068 Beod® 2EAGLINS0® SR HBED Sres
Xosahko Dtn @95"@5@@ %Su:mf{} m{g{:}}@m}.

Options :

A 1s true and R 1s true. But R 15 not the correct reason for A
A2 0bain Read), 520 R. A% S0GbS D6 s°th

1. %
A 1s true and R 1s true. R 15 the correct reason for A
A E.J% b Raayy, 50 R AD ﬁ-@@}f) ISt
2. ®

A 1s true but R 1s false
A Eu@ s R é?{q‘g



A 1s false but B 1s true

A A ﬂéﬁl‘jsﬂﬁj E EUE&O_,
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Assertion (A): Even in the presence of resource scarcity. the central government
initiated measures to strengthen the education and health sectors in India

BFBS (A): SSthen FBET 65)5)88, Bols (H3E0 Doy BBk BB oo
S350 DaDerd8 Sted 8kob.

Reason(R):  Public investment in social infrastructure 1s critical in the
development of an economy

TEH R): 28 €bE S50 o) of)n8, Fodnd oSPSNE" (Hebd; iped

wrer Se¥o.
Options :

A 1s true and R 1s true. But R 1s not the correct reason for A
A ﬁw@. SoBcSo R&ﬁ“ﬁ} sn RA% éﬁ@oé Daes 50

1. %
A 1s true and R 1s true. R 15 the correct reason for A
A &@, soBcin R&a"@.f s RAS ﬁ&@o%ﬁ Se3tsea
2.
A 1s true but R 1s false
Aag) s Ra&Q)
3 %

A 1s false but R 1s true
A e“iu"g*bj ==& R eua’;rgj,
4. %
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Assertion (A): “Wiping every tear from every eye’ are the hallmarks of Universal
Basic Income (UBI) scheme

(B8>S (A): (8 Soif, (56 5O HHH FehoiSio ©ID FHYES (S
srEco a‘i)}aag oftre.

Reason (R):  Effective financial inclusion 1s crucial to the success of UBI scheme

& (R): REgHosas g DDpREo FLYBE [rFiE eurdho’ dadhioo

s=erD8 orer Seo.

Options :

A 1s true and R 1s true. But R 1s not the correct reason for A
A E.J@. Snbason R&&”@,T s B A% ﬁ-ﬁ@}f) DB e =0

1. %
A 1s true and R 1s true. R 1s the correct reason for A
A 2. S0Bain Rad), 520 R. A% D50 dabem
2. %
A is true but R 1s false
3 % A m@, =08 RE&@\J
A 1s false but B 1s true
A & sR R ag)
4, %
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Assertion (A): In general. 1so-product curves are convex to the origin
E}Bﬁhﬂnﬁ (A) : FFgedeorr, E-Emén}gﬁmm Soeerdl Loorselore Godromn.

Reason (R): In general. capital and labour are perfect substitutes
&P (R):  Froedmore, [#5 H8dm Siredso Do (DemgEomdiren.

Options:

A 1s true and R 1s true. But R 1s not the comrect reason for A
A &@. SoBcso Rﬁw@;}. s B AE ﬁ@@}?ﬁ D5tle =%

A 1s true and R 1s true. R 1s the correct reason for A
Az, s0bain Read) 520 R. A% HBGhd DS6e

A 1s true but R 1s false
A aqa’;;.;, s R é{m

A 1s false but R 1s true
A 8gy=0 R aq)
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Assertion (A): According to Hardin’s tragedy of Commons’ model. open access
resources are over exploited by the public
Ef)!iﬁ"ﬁé (A): 0R) G srardge dardo Sree [Hsdo, direirsy Fiym

B0 S55eD (Heen obr .

Reason(R): Incase of the use of open access resources, the marginal private benefit 15
more than the marginal private cost

D) (R): cimeiimsy srEpen B0 $5the aegod, airos [E.’JGJJE%E}J o Bod
LEPST Eoénok.

Options:

A 1s true and R 1s true. But R 1s not the correct reason for A

1 A wo@gb 208350 Rﬁwﬂl, sen R A B {6ghtd 268 soth

A 1s true and R 1s true. R 1s the correct reason for A
A a.@, soBdin R&&”‘ﬂ‘:ﬁ s BLAD E@@}ﬁ Dates

A 1s true but R 1s false
A eu@, 50 R &:éé;g

A 1s false but R 1s true
4% A &gy =0 R a3
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Arrange n ascending order the volume of consumer surplus at various market prices given below:
(Bots =l DS SrGH5 e St MEPHTER ivend eBien Eiod® e,
a) Rs100

100 Bearcien

b) Rs60
60 Brarchen

¢) Rs70
70 &rarahen

d) Rs40
40 Srarahen

Options :

d. a. b.c
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Arrange 1n descending order the average cost of different size plants m Sylos-Labini model
of limit pricmg:
G- enfl}) OB 8 Simard? 9% Borere Boge Bk Hoied) e3P Ko
Sarayang
a) Large plant
8 265 20w
[A] &
b) Small plant
R HB:res Ko

o
¢) Medum plant

éjfﬁéﬁ)aﬂm 250ues 260{%

Options :

c.a. b
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Arrange i chronological order. the development of following economic models:
Bob ©BE Sdrred 8 «dHd seolEHos” ©SityE.

a) Modigliani model of limit price
FBACTD BOBWB 58 Somee

b)  Stackleberg model of duopoly
Edmb H0s S

¢) Bhagwati model of Limit price
PHG HBDE HY Sdomae

Options :

1. ®
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Arrange 1n ascending order the present value of Rs 1000 to be recerved at the end of one year.

at given discount rates:
Bob &3F)ot5 B8 38, 2.8 Hod)bo Snhow) 5 grod 1000 Srarade [Hihd dosd eb%rn

Boos® by,
a) 6%
b) 4%



Options :

1_$3d'b' c. A
5 % b, a d ¢
c. a.d. b
3 %
c.a b, d
4.
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Arrange 1n ascending order the value of Marginal propensity to save, given the value of mvestment
multiplier (K):
aéém&é ?ﬁ*ﬁmum& hedo Dende r:’;;%;g tiaroél TrDE0 @ée]% Dended eiisrn [ﬁ@oéﬁ Chventant
a) K=Infinite
el Heo=oiodo
b) K=20
Dbl Hego=20
¢) K=1
el Hego=1
d) K=50
wtpab Heso=50

Options :
| % b coulk @
a d b, c



a. b d c
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Arrange in descending order the general price level, given the values of value of money:
aé&m&é G550 Dendd Gng) Dende [‘jb&‘gﬂ Frbe S8o wdiiien Eéa'):loe_‘?ﬁ 55

a) 0.50
b) 0.25
¢) 0.10
d) 1.00
Options :
d, ¢. b, a
1. =
b, d a c
2 ®
3 ¢ c. b.a d
a. b. e d
4, %
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In relation to normal distribution. arrange the following in ascending order:
LNy HohB8 Homohod, Bod o8 6bitren EHods R Venayy

a) Standard deviation
(arsirds Ddedo

b) Quartile deviation
;ﬁeﬁag DSenso

¢) Mean deviation
éo-r:ﬁé oo

Options:
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Arrange the following in chronological order:
(Bod oA sre [Eariartore eansyEm.

a) Ricardo’s Principles of political economy and taxation
-EJSUESE G0 @)ﬁr‘ja’zﬁn} &5 SrOf8S JseHsh abol &Wéén]a’ﬁ

b) Alfred Marshall’s Principles of Economics
(L Thela éﬁjﬂfﬁﬂﬁ Gng) Ea?:g@éﬁ &5 QS“R:JE}EJ
¢) JSMill’s Essays on some unsettled questions of political economy
B.000. 06 @nE) cHD 6l $H s 288 5HQ) ol FOEES IS
Options :

b, c.a
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Arrange the following in chronological order of publication:
Bod ardd [Hbe see (Biridharto @hdyED.

a) Rostow’s stages of economic growth
P Gy el o Bk T°8

b)  Schumpeter’s theory of economic development
$ohib G@nE) 60 b JExrdE BHehIols

¢) Karl Marx’s Das capital
556 56y Gng) o shid

d) Thomas Malthus’s Essays on the principles of population
ool Sl Gng) cHS ©f § BYDS) eb FHFES

Options :

b, a d c
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Arrange in chronological order the following:

(Bod 78 e [Eardhardo wshdy)s.

a) The first Food Grains Policy Committee
& HE [Mong) aret S

b) The Food Grains enquiry Committee
8 HE Mond) =580 saé

c) Agricultural Prices Commission
A EenBS PR EHS

d) Centre for Agricultural Marketing
oéb 56 Q@Ef'_:l:,tﬁﬁ aﬁjﬂgﬁoﬁ

Options :

c; a;, b d
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Arrange the following in chronological order:
(Bod @R srolfdridadrto ihdy)Em.

a) National Renewal Fund
RS DS Hok

b) Employee’s state insurance act
Doaron® 0T ZEieBay) airs

Fat ] £ I T &

c) The first Employee’s Compensation act
el ilen s R S FAT ATV Cﬁﬁ%

d) Industrial disputes act

s08QOHS BRirstn) oirE

Options :
v d b a
5 % d. e, b, a
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Arrange the following credit rating agencies in chronological order of establishment:
Bob $56580B0R Dedyoin e &)ars soEdrdartornr eid.

a) CRISIL
&n6

b) ICRA ltd
sls> DHBE

¢) CARE
ElS



Options :

c. a. b

b. a,

L]
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Arrange in ascending order the net production of cereals (in million tonnes) in India.
in the following years:

Bob éoééﬁ*jmaéﬁ‘ ersn ol égmma@@ Dl GEE (DSHS bined R eb’irn
Baos® 508,

a) 2013

b) 2014

c) 2015

d) 2016

Options :

1 % d b ac
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Arrange in descending order the yield per hectare of following kharif crops n India.
in the year 2020-21:

2020-215 E-oﬁénji!ﬁoéﬁ, arbEnsos?, (Bods a&ﬁéméé pb% Hobe 3?5;5 &fvathe
©58%5e (SHod® eyt

a) Wheat

Rl
b) Rice
lal
¢) Maize
S0EE")
Options :
| & B b
5 % @ b. ¢
3w b
b; a
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Arrange 1n ascending order the growth net state domestic product at current prices, mn 2021-22,
of the following states:

2021-225 So5880d’, Bodt aswd Tlare Gng) (i §s0d dpd (& Déard0
wblire (Edods ©aDLE.

a) Telangana
B80T

b) Tamil Nadu
EhLEvdey

¢) Andhra Pradesh
soltf ($0F

d) Madhya Pradesh
Hotds (B8

Options:

1 % b, a c d
d. a, e. b

2. ®

3 % @ d. b, ¢
b.c. a d

4,
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Arrange 1n descending order the gross domestic saving at current prices (in Rs crores)
of the following sectors, in the year 2020-21:

2020-215 So&)508, (8ot sSwas Sorre @nE) [H:hE $os® &pe odah D
E% Srared’) H os6%rn [Enos® o).

a) Household sector
i)s Botio

b) Private corporate sector
Somalén 5'.1*55;‘,5&.3} Botio

¢) Public sector

@e}ﬁ)é‘:} tolio
Options :
1 % a, c. b
5 ¥ a. b c
b, a c
3. %
c. b, a
4. ®
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Arrange m descending order the annual growth rate of per capita net national income at current prices,
i the following years:
1Bod éoaﬁé&oﬂeéﬁ? (e Bedd 008 Jul erldhrrdbo @nY "w‘oaﬁe%ﬂé ;S&géém& ©b%rH

Ehod’ et
a) 2014-15
) 2015-16
¢) 2016-17
d) 2017-18

Options :
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Arrange in chronological order the following:
Bod &R sre [Baridardo eityam.

a) Announcement of Start-up India and stand-up India mitiative
P [oGdie HBdn Frofs s0ddir Histe (H80E

b) Launching of Make in India programme
0B 28 m08dir HE%o [Frtodlo

¢) Adoption of National Intellectual Property Rights Policy
o@D 3h SlekS ] E&“H_A:g@ Do esnen

Options :
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Arrange in chronological order, based on the date of launching of the following:
1Bot a8 (ar8ofoid 86 srdore srelsriharto @0,
a) Pradhan Mantri Fasal Bhima Yojana
Baessol@ $56 Dir Eres
b) Direct benefit transfer of fertilisers on pilot basis
BErK 558 AnHeD [HEE HEreS 26D
¢) Electronic National Agricultural Marketing
QolgRE JG5S AREBS Sr)Boh

Options :



a, b. e
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Arrange 1n chronological order. based on the date of launching of the following
employment programmes:
Bob Gard HFsre [artododd 86 srbore srelSsiriharto o5y
a) Swaranajayanti Gram swarozgar Yojana
Y 20008 [rrew (RS Bred
b) Swarana Jayanti Shahari Rozgar Yojana
KJ;E echod Hrd BiErrE Gmesd
¢) Rural Landless Employment Guarantee Programme
Ertd ergofan woaanaot] nﬂgﬁoé Elagay
d) Jawahar Rojgar Yojana
256 BPEmrE e

Options :

| % b, c, d; a
d. a. b e

2. %
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Match the following:
1Bod a8 a8 H¥haw

Author Name Name of Book
Siond Dk %o D
a) W Fellner L. Oligopoly and Technical progress
iz N0 2OR0 wob BEES @R
b) Joan Robinson II. Economics of Welfare
&S =5 ¥8 5:'5&1“3?95;] ul 3506
¢) A.C Pigou ITI. Competition among the Few
2. B, SobBSS dvsroR & B
d) P.Sylos-Labini IV. Economics of Imperfect Congjerilion
2. 26 - EE) 6§ 20564 sobEHS
Options :

a-III b-IV c-1I d-1
1.4

a-11 b-I c-IV d-III

a-IV b-III c-I d-II

a-111 b-I c-1I d-IV
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Match the following in relation to Circular flow of income concept:
BEErd ewrad [Hariro gad H)ars Bod 78R eEHtham

List-I List-II
exfleg=-1 eefe-11
a) Saving I. Income flow
et sordh |[Darso
b) Spending by households II. Real flow
p\Evy Borfod S50 TR [Barsro
¢) Flow of goods and services 1. Withdrawal
ShHe SHbch e [HarsFo T BB
d) Factor payments IV. Injection
508 3Boajen &BA ezt Do
Options :
1% a-II b-I c-IV d-I11
a-111 b-IV c-11 d-I
W
3 % a-IVv b-I11 c-1 d-II
a-III b-I c-11 d-IV
4. %
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Match the following Economists’ with their theory of trade cycle:
Bob argart e drposrei, @ (HBarGolD 8y o DEE° asnsED

Name of trade cycle theory Name of Economist
sgard dlsre hupodo o808 Je DH
a) Psychological theory I. Malthus
SR drrodo SR
b) Monectary over investment theory II. Hatrey
[Beai8ahE o8 Dtnad Hocodo &
¢ 2 2 z
¢) Pure monetary theory ITI. Hayek
B (L5835 HBS Drrodo SFanE
L S [~
d) Over-saving theory IV. 1.s.Mill
o8 grhy) rEodo 2. R, ane
Options :
1 % a-IV b-1 e-1I d-III
5 % a-II b-III c-IV d-I
3 ¢ alIV b-111 c-11 d-1
, ol b-I c-11 d-Iv
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Match the following:
Bob 0 ee5shin

List-I List-II
erdme-1 erflee-11
a) Theory of Analytical Probability I. R.A. Fisher and Von Mises
56 15 oIDdES (sRean®E) ©6.2).550 @0k =8 Dad
b)  Empirical approach to probability II. De Motivre
QoDBES TS o [Fromdd & Frandd
¢c) Book on Games of Chance IIL. Pierre Sumon Laplace
6 &a ﬁﬁ)ﬁj TH mnﬁn:- DoHB s E:‘Dﬁ]ﬁ-
d) Doctrine of Chance IV. Girolamao Cardano
m@ﬁ & a°5m AB L, EDU;!EE

Options :

a-IIT b-I c-IV d-I1
1. %

5 % a-1 b-II1 c-1V d-11
3 % a-IV b-II  ec-II d-I

a-111 b-1 c-11 d-IV
4. %
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Match the following:
Bob @ e:@stchad.

List-I List-II
L | efeze-11
a) James Bernoulli I. Input-output model
25y) B6TD 255985 ~w5i5ts Srsd
b) Cayley II. Linear programming
EG) HHHE (Drenoh
¢c) Leontief III. Theory of matrices
DErS & 656 6P SrydDR
d) Dantzig IV. Binomial Distribution
wrot52R A ] a@m@sﬁ
Options :
1 % a-IV. b-II c-1 d-1IT
5 % a-1 b-I1I eIV d-II
3 a-IV. b-III e-I d-1I
a-III  b-I c-1I d-IV
4. %
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Match the following:

Bod ar@d e:@dnhsn.
Cost curve
6'35::&5053,3

a) Total fixed cost curve
ango ?@oﬁ ﬁétﬁ]ﬁﬁ]

b) Short run average cost curve
L b = o 3
QeenseDE 5 Talvy éﬁcﬁ}?ﬁag

c) Average fixed cost curve
29rién DB dyab B

d) Long run average cost curve

é}?p&'ﬂ&)ﬁ it a":néjciijéaj

Options :

1. % &l b-1I R0
2. % iy b-1 c-11
3. % a-Il b-111 oIV
4.9 i biL¥ 5

Nature
R"ﬁaj"aﬁa"m
I. Convex to the origin
Sorerdd Hogrseto

I1. Saucer shape
26 esto
III. Parallel to ‘X’ axis
‘X o8 Ssirosto
IV. ‘U’ shape
‘U esseiio

d-IVvV

d-1I1

d-I

d-1I
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Match the following
Bod o=@ eddtihim.

List- List-IT
-] erflee-1l
a) * " shape 1soquant L Relative price ratio of two factors
wbos’ Gt 6@@&@&3 Both sbsre K g )8
b) Slope of iso-cost line II. Increasing Marginal Rate of technical substitution
5D apao o0 g are &G #oﬁﬁéﬁ@@%@um BaroB0in
¢) Concave iso-quant I Economie region of production
Dired Sard)s Ty el 58 [aFodo
d) Area between two Ridge lines IV. Two factors are fixed coefficients
doth 5& FoLna) stk (aFodo doth) 88 A %&5 HEaseen
Options:
1% a-IVv b-II c-II1 d-I
5 & a-IV b-I c-1I1 d-IIT
3 % all b-III e-IV d-I
4 % @l b-IV e-1 d-1I
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Match the following
Bod 78D a2655HE0.

Year Fiscal deficit as % of GDP
HosEBo (Bs5%n 28HE° TEorr
a) Fiancial Year 18 I} 34
185 @Qﬁ RoDEBo
b) Financial Year 19 0y 3.7
19: @%ﬁ RoséBo
¢) Fimaneial Year 20 T} 35
205 E%ﬁ RosEBo
d) Financial Year 21 IVy 9.2

2135 =88 E&-oa’}é&ﬁo
71

Options :
. a-IVv b-1I c-II1 d-I
1. %
5 % al b-IV c-11 d-II1
3 ¢ &l b-I c- 11 d- IV
all b-IV e-I d-I11
4. %
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Match the following
Bob @D esdsshim.

List-I List-IT
erdlae-1 el -11
a) Median I)  Absolute measure of dispersion
sogiHido DBes Tl DY Feosrdo
b) Geometric mean IT)  Positional average
rocs 533{:555330 ?g@ﬂ% S Taln)
¢) Standard deviation IMI) Relative measure of dispersion
ErardE ddolo DBee @Y g FosEso
d) Coefficient of variation IV) N oot of the product of N values
Do Do Dendie MHesto T Nt Ssreo
Options:
1« a-11 b-IV c-1 d-III
5 % a-IV b-I c-11 d-II1
3 % alI b-I c-IV d-1I
a-11 b-I c-IIT d-TV
4, %
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Match the following in relation to vector (o T S an|
Bioyel v = {a, 2.,..cceeenn,s an} &5 Bod @ aESEHE
List-I Last-II
oo f)eme-] arof)ege -1
4d) v= [T T S I) Components of vector

B 8L A an

¢) Row vector 1s denoted by
0o DB HPIE

d) Column vector is denoted by
Deny) HB¥e IFb HrdE

25256 Ging) sureoseen
[o5]
oI v

m v

IV) Vector of order n
n (s b

Options:
~ g-IIT b-IV c-1 d-11
1. %
a-IV b-I c-I1I d-III
3 % a-1I1 b-I c-IV d-II
a-IVv b-I c-III d-II
4, &
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Match the following:
1Bof 56D =888
List-I
ard)ee-]
a) LM curve n Keynesian Range
foma95 BoSE LM 5By
b) IS curve in intermediate range
a@@é@&dbe‘f Bofd® IS 5o
¢) LM curve in Classical Range
=056 Tofé® LM S50
d) Inflationary pressure curve
B 5epe 382 Do

Options :

1 % alll b-IV -1
2 ¢ all b-I c-I1T
3 % a-11 b-I c-IV
4 % a-IV b-IIT c-1

List-II
erflem-11
I) Slopes downward from left to right
QEHD ok B8 Bok8 D Gotnod
II) Parallel to *X’ axis
X o8 Sdrodborr Gotnod

III) Parallel to Y axis
Y og8 Sdrodborr Gotnod

IV) Slopes upward from right to left
HE Hol D D8 D totnob

d-11

d-IV

d-IIT

d-II
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Match the following:
(Bob D adhshin

Finance Commission Chairman
@gé Hogoo Qiﬁé5
a) Fifth Finance Commission I) J.M. Shelat
GO ATy &agé Hosno B.6050. et
b) First Finance commission ) K.C.Neogy
a8 &agﬁ OO0 B.0. faeh
¢) Seventh Finance Commission IIT) P.V.Rajamnnar
Byt @%5 H0oS00 EJ.EJ.U%E&J&I@LE
d) Fourth Finance Commission IV) Mahavir Tyagi
m‘“%}g} @Qﬁ Hosno 50506 m=egh
Options :
 a-IIl b-IV ¢c-1 d-II
1. %
9 % a-IV b-I c-IT d-II1
3 ¥ a-IvV b-II c-1 d-III
_a-l b-IV c-I11 d-II
4, %
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Match the following:
Bob @D edddchin

Committee name Chairman
N e 35S
a) Tax Reforms Committee I) Chokshi
EFEEH) Eﬁ&ﬂ'ﬂﬁ@ Eind féﬁﬂnj
b} Direct Tax Law Committee IT) Wanchoo committee
Eﬂfgm e £ sroiiT Ba0d
¢) Indirect Taxes Enquiry Committee I1T) Raja.J.Chelliah
=8 B0%) ergE® Jogid Kand oeer. 8. Begdiy
d) Direct taxes Enquiry Committee IV) L.K.JTha
G5 erE® Qo8 End aHS. 8.8
Options :
~a-II b-IV c-IIT d-I
1. %
5 % a-111 b-I e-I1 d-IV
3 % a-Iv b-II c-1 d-I11
4V a-111 b-1 c-IV d-1I
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Match the following:
Bod @D s:e858050

List -I List-II
efee-1 erdle=-11
a) Maastricht Treaty I) 1914
Srh (8586 adjolo
b) Smithsonian Agreement II) 1991
PERFLCHY 28300
¢) European Monetary System Iy 1979
chrEPaHS HSrd g
d) End of Gold standard IV) 1971
08 (23830 ®0o80
Options :
1« a-11 b-IV c-111 d-I
> % alll b-I c-11 d-IV
3 % a-IV b-II c-1 d-III
a-1 b-III c-IV d-I1
4, %
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Match the following:
(B0 a8 addtdhsn

List -I List-IT
erfee-1 erdee-11
a) Steady State Economy I) Buckminister Fuller
6 5 Jsm9D @6 oRg6 Heb
b) Theory of Exhaustible Resources I} K. Boulding
58 «f DRms 6 S.&"9oh
¢) Economics of the Coming Spaceship Earth IIT) Herman Daly
aﬁa“&bﬁrz sy 6 ok ﬁ)ﬂ}ﬁ&fy 3:**5@5 )
d) Operating Manual for Space ship Earth IV) Hotelling
wSoBoR aﬁ}vﬁaﬁa‘iﬁ 56 ?:;E“‘*E 26 SF50oR
Options:
1 = alV b-II e-1I1 d-1
o % a-lll b-I c-11 d-Iv
3 a-II1 b-TV c-11 d-T
: a-1 b-III e-IV d-II
4, %
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Match the following:
Bod @D a8hthin

Last - List-II
gt ef)ee-11
a) Rate of effective protection I) Tanff on value added
0 ©f D285 @BES Dend HBoYD Hofo
b) Import quota IT) The rate of tanff that maximises benefit from trade
B Bir 880 Hob [HaraT KB 32 oo Bén
¢) New protectionism ITT) Direct quantitative restriction on imports
Rres 588 dgrio Brbshéed [HEE Sb:re Ao
d) Optimum taniff IV) Voluntary export restraint
&a&-@&ﬁ%cﬁj D0E0 ﬁﬁiﬁ&@rﬁﬁ D@ Rodhaso
Options:
1 % a-IV b-II c-III d-I
5 ¢ Al b-I11 c-IV d-1I
3 % &l bV o-II d-I
a-I b-III c-II d-IV
4, %
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94 . Match the following:
Bob @D e:a8HBBhSn
List -I
erde=-1
a) Dependency theory
anahn‘] hm;oﬁéo
b) Social dualism
Baie ﬁ]@@f&@&ﬁa
¢) Financial dualism
@agé aielal
d) Technological dualism
POBEE B0

Options:

1 % a-1 b-IV c-111
5 w ol b-IV c-I
3 % alIV b-11 -1

a-111T b-IV c-11

List-IT
erfee-11
I) Benjamin Higgins
Boaa AR
II) Myint
sbotd
IIT) Paul .A. Baran
e o). 0P

IV) J.H.Boecke
2.375. &5
d-II
d-1I
d-111
d-I
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Match the following:
1Bob 8D 2858550

State Child Sex ration 1in 2011(0-6 years)
oo 2011 & Do 2B (0-6 SoHeoren)
a) Arunachal Pradesh I} 943
OBEESS (HEE
b) Assam I 972
OO
¢) Manipur 1Ty 930
soard
d) Nagaland IV) 962
Treerol
Options :
1¢ a-11 b-TV c-111 d-I
a-ll b-IV c-1 d-III
2. %
3 % alV b-1I c-1 d-III
_a-III b-IV c-11 d-I
4. %
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Match the following:
|Bob 80 e:fSitihiin

Year Index of India’s income terms of trade( 1999-2000=100)
ﬁo&éﬁ%ijo eSS0 srrdhals daodide 578 (1999-2000=100)

a. 2013-14 I 208

b. 2014-15 . 223

c. 2015-16 1. 230

d. 2016-17 IV. 228

Options :

. a-l b-IV c-IIT d-1I

1. %

2 % a-11 b-I c-II1 d-IV

3 ¢ a-IV b-IIT c-1 d-1I
a-IVv b-I1T c-1I d-I

4. %
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Macro economics distinguishes between the real economy and

pe ©08 FoRHo Jeghd) @BY SR snbdin 8 Hotss Burid Sraysod.
Options:

Monitory Economy

¢ B SN
| % 88 B



Virtual Economy
DEMG @bl i
u/ & 26

Normative Economy
¥ o
arreBes @gu éﬁé:&]

Underground Economy
wotib ([of @bE s
& @
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Arrange in chronological order the following BRICS summits:
Bob (D) Sirderesdh @l ebAY soEirharto @sht)Hn.

a. Durban
eﬁﬁﬂ*}ﬁ
b. Fortaleza
ﬁoﬁmﬁmﬁ
c. New Dellu
Sl
d. Ulfa
Bar
Options :
1 ¢ c.a.b.d
5 % a.b.c.d

3 % b.adec



d.c.a.b
4. %
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Assertion (A): The New Development Bank gives priority to projects aimed at developing
renewable energy sources
[&arsH( A): oEn 8 [058 Sdthe @@a’ag zaletcy ?:Sé@ Dsee S @ﬁjéb\% Gopely
@D@Eﬁgo srhod
Reason (R): The aim of the New Development Bank 1s to promote environment protection
0 (R): SoeEite H08KRD (HEiroiio Sras oD o G eddo

Options :

A 1s true and R 1s true. But R 1s not the correct reason for A
1 % A gy 0bdin R aq). 50 R, A ¥ 08ahs &8s a0t

A 1s true and R 1s true. R 1s the correct reason for A
A 2. S0bain R 2:). 50 R, A 5 $0ha D86

A 1s true but R 1s false
A m@. 50 B é@,

A is false but R 1s true
" A é@, =8 B eu@,
4. %
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Match the following:
(Bob @R adhthn

List-I List-I1
erle=-1 erfe=-11
a. 19 July 2016 I.  Headquarters agreement signed
19 =8 2016 (2358 E:'“U‘!;j-&‘.)dﬁjo euaﬁgj,ocioﬁz_:; HosE0
b. 27 February 2016 II. Fourth BRICS summit
27 Sl2s6 2016 e [@5) Kdrado
¢. 2012 I Sixth BRICS summit
w3 (DB) H¥wado
d. 2014 IV. Green Financial Bond 1ssued
576% D8 arof =0
Options :
. a-Il b-IV c-111 d-I
1. %
. a-ll b-I c-111 d-TV
2. %
a-IV b-I c-11 d-I11
3. %
a-1 b-III c-IV d-1I



